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COMPRIMENTO
TOTALUNIT

POS BIT QUANTAÇO

mm cm cm

P1 Lances 1 - 2
     50A   1      10     4      90     360
     50A   2      10     6      76     456
     60A   3       5    35      85    2975
     50A   4      10     4     318    1272
     60A   5       5     2      90     180

P2 Lances 1 - 2
     50A   1      10     4      90     360
     50A   2      10     6      76     456
     60A   3       5    35      85    2975
     50A   4      10     4     318    1272
     60A   5       5     2      90     180

P3 Lances 1 - 2
     50A   1      10     4      90     360
     50A   2      10     8      61     488
     60A   3       5    33      85    2805
     50A   4      10     4     318    1272
     60A   5       5     2      90     180

P4 Lances 1 - 2
     50A   1      10     4      90     360
     50A   2      10     6      66     396
     60A   3       5    34      85    2890
     50A   4      10     4     318    1272
     60A   5       5     2      90     180

P5 Lances 1 - 2
     50A   1      10     4      90     360
     50A   2      10     8      61     488
     60A   3       5    33      85    2805
     50A   4      10     4     318    1272
     60A   5       5     2      90     180

P6 Lances 1 - 2
     50A   1      10     4      90     360
     50A   2      10     8      61     488
     60A   3       5    33      85    2805
     50A   4      10     4     318    1272
     60A   5       5     2      90     180

P7 Lances 1 - 2
     50A   1      10     4      90     360
     50A   2      10     6      66     396
     60A   3       5    34      85    2890
     50A   4      10     4     318    1272
     60A   5       5     2      90     180

P8 Lances 1 - 2
     50A   1    12.5     6     100     600
     50A   2    12.5     6      96     576
     60A   3       5     7     125     875
     60A   4       5     7      26     182
     50A   5      10     6     318    1908
     60A   6       5    27     125    3375
     60A   7       5    27      26     702
     60A   8       5     3      90     270

P9 Lances 1 - 2
     50A   1      10     4      90     360
     50A   2      10     6      71     426
     60A   3       5    34      85    2890
     50A   4      10     4     318    1272
     60A   5       5     2      90     180

P10 Lances 1 - 2
     50A   1      10     4      90     360
     50A   2      10     6      66     396
     60A   3       5    34      85    2890
     50A   4      10     4     318    1272
     60A   5       5     2      90     180

P11 Lances 1 - 2
     50A   1      10     4      90     360
     50A   2      10     8      61     488
     60A   3       5    33      85    2805
     50A   4      10     4     318    1272
     60A   5       5     2      90     180

P12 Lances 1 - 2
     50A   1      10     4      90     360
     50A   2      10    10      56     560
     60A   3       5    33      85    2805
     50A   4      10     4     318    1272
     60A   5       5     2      90     180

P13 Lances 1 - 2
     50A   1      10     4      90     360
     50A   2      10     4      81     324
     60A   3       5    35      85    2975
     50A   4      10     4     318    1272
     60A   5       5     2      90     180

P14 Lances 1 - 2
     50A   1      10     4      90     360
     50A   2      10     6      71     426
     60A   3       5    34      85    2890
     50A   4      10     4     318    1272
     60A   5       5     2      90     180

P15 Lances 1 - 2
     50A   1      16     4     368    1472
     50A   2      16    10      90     900
     50A   3     6.3    25      76    1900
     60A   4       5     2      95     190

P16 Lances 1 - 2
     50A   1      10     6      90     540
     50A   2      10     6      96     576
     60A   3       5    36     125    4500
     60A   4       5    36      26     936
     50A   5      10     6     318    1908
     60A   6       5     3      90     270

P17 Lances 1 - 2
     50A   1      10     4      90     360
     50A   2      10    10      56     560
     60A   3       5    33      85    2805
     50A   4      10     4     318    1272
     60A   5       5     2      90     180

P18 Lances 1 - 2
     50A   1    12.5     4     368    1472
     50A   2    12.5    14      66     924
     50A   3     6.3    26      86    2236
     60A   4       5     2      90     180

P19 Lances 1 - 2
     50A   1      10     4      90     360
     50A   2      10     6      66     396
     60A   3       5    34      85    2890
     50A   4      10     4     318    1272
     60A   5       5     2      90     180

P20 Lances 1 - 2
     50A   1    12.5     4     100     400
     50A   2    12.5     6      86     516
     50A   3     6.3     6      86     516
     50A   4      10     4     318    1272
     60A   5       5    27      85    2295
     60A   6       5     2      90     180

P21 Lances 1 - 2
     50A   1      10    10      90     900
     50A   2      10     6      48     288
     50A   3      10    22      71    1562
     60A   4       5    34     225    7650
     60A   5       5   123      26    3198
     50A   6      10    10     318    3180
     60A   7       5     5      90     450

P22 Lances 1 - 2
     50A   1    12.5     2     100     200
     50A   2      10     4     100     400
     50A   3      10     6      66     396
     60A   4       5     7      85     595
     50A   5    12.5     4     318    1272
     50A   6     6.3    22      86    1892
     60A   7       5     2      90     180

P23 Lances 1 - 2
     50A   1      10     4      90     360
     50A   2      10     8      61     488
     60A   3       5    33      85    2805
     50A   4      10     4     318    1272
     60A   5       5     2      90     180

P24 Lances 1 - 2
     50A   1      10     4      90     360
     50A   2      10     6      66     396
     60A   3       5    34      85    2890
     50A   4      10     4     318    1272
     60A   5       5     2      90     180

P25 Lances 1 - 2
     50A   1      10     4      90     360
     50A   2      10     6      66     396
     60A   3       5    34      85    2890
     50A   4      10     4     318    1272
     60A   5       5     2      90     180

P26 Lances 1 - 2
     50A   1      10     6      90     540
     50A   2      10     4      48     192
     50A   3      10    10      86     860
     60A   4       5    35      85    2975
     60A   5       5    35      26     910
     50A   6      10     6     318    1908
     60A   7       5     3      90     270

P27 Lances 1 - 2
     50A   1    12.5     4     368    1472
     50A   2    12.5     8      76     608
     50A   3     6.3    26      76    1976
     60A   4       5     2      95     190

P28 Lances 1 - 2
     50A   1      10     4     368    1472
     50A   2      10    10      56     560
     60A   3       5    32      85    2720
     60A   4       5     2      90     180

P29 Lances 1 - 2
     50A   1    12.5     4     100     400
     50A   2    12.5     8      81     648
     50A   3     6.3     6      86     516
     50A   4      10     4     318    1272
     60A   5       5    27      85    2295
     60A   6       5     2      90     180

P30 Lances 1 - 2
     50A   1      10     4      90     360
     50A   2      10     6      66     396
     60A   3       5    34      85    2890
     50A   4      10     4     318    1272
     60A   5       5     2      90     180

P31 Lances 1 - 2
     50A   1      10     4      90     360
     50A   2      10     6      71     426
     60A   3       5    34      85    2890
     50A   4      10     4     318    1272
     60A   5       5     2      90     180

P32 Lances 1 - 2
     50A   1      10     4      90     360
     50A   2      10     4      81     324
     60A   3       5    35      85    2975
     50A   4      10     4     318    1272
     60A   5       5     2      90     180

P33 Lances 1 - 2
     50A   1      10     4      90     360
     50A   2      10     6      66     396
     60A   3       5    34      85    2890
     50A   4      10     4     318    1272
     60A   5       5     2      90     180

P34 Lances 1 - 2
     50A   1      10     4      90     360
     50A   2      10     6      71     426
     60A   3       5    34      85    2890
     50A   4      10     4     318    1272
     60A   5       5     2      90     180

P35 Lances 1 - 2
     50A   1      10     4      90     360
     50A   2      10     8      61     488
     60A   3       5    33      85    2805
     50A   4      10     4     318    1272
     60A   5       5     2      90     180

COMPR PESOBITAÇO
RESUMO DE AÇO

mm m kgf
   1091      168      5     60A
     90       22    6.3     50A
    694      428     10     50A
     91       88   12.5     50A
     24       37     16     50A

Peso Total        60A =      168 kgf
Peso Total        50A =      575 kgf
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